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Initially no — K5 T9Imns®

Overview

X127 explained that 3" follows the view of w"9 who stated, concerning
o™nn M23, that 127 W2 oK, meaning only 72v°72, however X7 omna°.
Initially ms01n explains the meaning of X7 7121n3°%.

The mwn in 7710 concerning 131 X2 OX 1s a 7w»n ano. There is no name
associated with this 7. However w"7 explains the reason for this 7. It
seems somewhat odd that the X713 here attributes this 1°7 to "9, Our mo0IN
will explore this issue.
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The explanation of the term 'R? 7371n37" is that there is no requirement to

bring them to the p"»7°1 as it is explained in 2727 X P75 -
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' said what is the reason that (77n72) “wy» 722 are different than all
other M127p [which are required to be brought from %"1]); because all other
2°w7p do not have a 'n7o172' in their place in "1 —

mooIn explains this concept:
— YTPNA NON 19NN 0NY PPN ¥IYD

The explanation of the term 7017 is they do not have any permissibility
to be eaten only in the wTpni N1 -

w'"9 continues in the mwn:
—19YP11 N9 0nY VIV 9VyNI 992N 1 N

Except the 9152 and 2wy» which do have 179175 in their place in 5" —

mooIn explains this concept:
— 12992 PYINIY YIT*D

The explanation of this is that a "wy» 7102 may be eaten if they have a

2 in Y™ (without any redemption being required).” This concludes the citation of the
3w in *7mn

mooIn resolves an anticipated question:

" The tern w175 indicates that we are negating a more obvious interpretation. The term X> 751027 usually
means that initially one is forbidden from doing it. However here it means one is not required to do it.

2 X,X2 7AN.

? Other m127p, however, if they receive a D1 may be eaten provided they are redeemed first. One is
obligated to bring a new 727 with this redemption money. Therefore since eventually the 7299 (through its
redemption money) must be brought to the p"ni13, we obligate the owner to bring it now (see *"w1 there 7"7
pi=khi7a

* It is evident from the oyv, that there is no prohibition to bring M 22 from 2", it is merely not required.
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And therefore the X3 here attributes this ruling of X? 7%1705% X W2 DX,
to w'"1 (even though the ruling there in the 71wn is presented as a 7iwn ano,
and w"Y merely offered the reason for this 71397, nevertheless the X7
assumes) that the entire ruling (with the oyv) is the view of @',

mooIn has some reservations about attributing the 71277 to w"~:
— INYNYY 529 DINND NN NN NP

And it would somehow be more appropriate to have the text read 539

bRYMWS (instead of w™); in the X7 here the text should read "27 X29X) (instead of
w"97 ®2°981) for °" is the author of the 7awn. w"3 is merely giving a reason for the 113%7
presented in the 7awn (by °").

mooIn proves his contention that the RXin of the 71wn (which states 127> 1X2) is *".
—0YaP NDY D231 5719992 NYANY DIIVIN 12 12972 9INRY PHINNN 7299 ONNT

For the X723 there challenges the 1w [which maintains 1292%], from the
case of 271K 32 who brought n17152 from %22, and they did not accept

it from him to be brought as a 127p. * This contradicts the mwn which states that 182 X
"y

— NYPY 2295 NN HINYIY? 2295 RN VUM
And the X3 answered there is no contradiction; this is according to >''9,

and this is according to ¥'' - ]
$N2YPY 2299 DINNVIN 12T "NHI2) HNYNY? 2295 NIVNHY BNN NI

And it is evident there that the mwn that states 127" is according to >''9
and the [mwn] of o R 32 (where they did not accept his m132) is

according to ¥''. It is evident from the X723 that the Xin of the mwn that states 182 OX
1299 o°n°nn is O™ (and w1 merely explains the 71397). Therefore the &07° here should be
97 R2HXY (and not W7 KORY).

Summary
We can either assume that w"9, who explained the reason why 127 X2 oK

X2 179nno% AR, is also the author of this rule; or the X071 here should be
changed from @"9 to YRynw .

Thinking it over
What are the relative strengths (and weakness) of the two opinions in M501n?

S X" 1" o,
% The marginal note corrects this to be read 7awn.
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